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1 135./80R12 68S 4,000 — 3,500 — #HRARE RV AR 2VEVNTI=A 3,500 3,700
2 135.780R13 70S 5,700 — 5,000 — #HRARE R4V HAEHE aVEVTI=H 5,000 5,300
3 145,770R12 69S 4,000 — 3,500 — #HRRHE NR2AV AR 2VEVNTI=A 3,500 3,700
4 145R12 6PR 4,800 — 4,200 — #HARE R4V HAEiE aVEVNTI=H 4,200 4,400
5 145R12 8PR 6,000 — 5,800 — #HRARE KAV AR 2VEVNTI=A 5,800 6,100
6 145R13 6PR 6,400 — 6,000 — #HARE R4V ALK aVEVNTI=H 6,000 6,300
7 145R13 8PR 6,900 — 6,500 — #HRRE RV AR 2VEVNTI=A 6,500 6,800
8 155./65R13 73S 5,800 — 5,000 — #HRARE R4V #HAEHE 2VEVNTI=H 5,000 5,300
9 155./65R14 758 6,200 — 5,800 — #HRARE KAV AR 2VEVNTI=A 5,800 6,100
10 155./70R12 73S 4,600 — 4,000 — #HRARE R4V #HAEHE 2VEVNTI=H 4,000 4,200
11 155.770R13 758 5,900 — 5,200 — #HRARE RV AR 2VEVNTI=A 5,200 5,500
12 155.780R13 79S 6,300 — 5,500 — #HRARE R4V AL aVEVNTI=H 5,500 5,700
13 155R12 8PR 7,600 — 6,900 — #HRARE NER2AV AR 2VEVNTI=A 6,900 7,200
14 155R13 6PR 7,400 — 7,000 — #HARE R4V HAEiE aVEVNTI=H 7,000 7,400
15 165./65R15 81S 8,000 — 7,300 — #HRRE KAV AR 2VEVNTI=A 7,300 7,600
16 165R13 6PR 8,500 — 7,700 — #HARE R4V ALK aVEVNTI=H 7,700 8,100
17 165R14 6PR 9,200 — 8,300 — #HRRHE RV AR 2VEVNTI=A 8,300 8,700
18 165R14 8PR 9,700 — 9,000 — #HRARE R4V AL aVEVTI=H 9,000 9,500
19 175./65R15 84S 9,700 — 8,300 — #HRARE KAV AR 2VEVNTI=A 8,300 8,700
20 175./70R13 82S 6,900 — 6,400 — #HRARE R4V #HAEHE 2VEVNTI=H 6,400 6,700
21 175./80R15 90S 11,400 — 10,500 — #HRARE RV AR 2VEVNTI=A 10,500 11,100
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22 175.780R16 91S 12,200 — 11,000 — HASH NER2 v B2 2VEVNTIZH 11,000 11,600
23 175R14 6PR 10,300 — 9,500 — #HA=H NF2 v B4 IVEVNTI=H 9,500 10,000
24 185.765R14 86S 8,300 — 7,900 — HASH NER2 v B2 2VEVNTIZH 7,900 8,200
25 185.765R15 88S 9,500 — 8,900 — #HA=H NF2 v B4 IVEVNTI=H 8,900 9,200
26 185R14 6PR 10,800 — 10,000 — BHASH NER2 v B2 2VEVNTIZH 10,000 10,500
27(195.760R17.5 109.7107L 20,200 — 19,200 — #HA=H NF2 v B4 IVEVNTI=H 19,200 20,000
28 195.765R15 91S 10,600 — 10,000 — HAsH NER2 v B2 2VEVNTIZH 10,000 10,400
29 195.770R15 928 13,600 — 10,200 — #HARH NAR2/V  HARHE IVEVNTI=D 12,500 10,200
30|195.770R15.5 112/110L 19,000 — 13,500 — HASH NER2 v B2 2VEVNTIZH 13,500 13,900
31| 195.770R16 109/107L 19,500 — 17,900 — #HARH NAR2/V  HARE IVEVNTI=D 17,900 18,700
32| 195.775R15 109/107L 17,600 — 16,200 — BHASH NER2 v B2 2VEVNTIZH 16,200 16,800
33 195/80R15 96S 11,800 — 10,500 — #HARH NAR2/V  HARHE IVEVNTI=D 10,500 11,200
34| 195/80R15 103/101L 13,100 — 12,000 — HASH NER2 v B2 2VEVNTIZH 12,000 12,400
35| 195/80R15 107/105L 13,800 — 12,300 — #HARH ARSIV HARE IVEVNTI=D 12,300 13,000
36| 195/85R16 114/112L 18,000 — 16,500 — HASH NER2 v B2 2VEVNTIZH 16,500 17,300
37 195R14 8PR 12,900 — 11,500 — #HA=H NF2 v B4 IVEVNTI=H 11,500 12,500
38 205765R15 94S 11,600 — 11,000 — BHASH NER2 v B2 2VEVNTIZH 11,000 11,600
39| 205.765R16 109/107L 22,200 — 20,200 — #HARH NAR2/V  HARHE IVEVNTI=D 20,200 21,100
40 205770R15 95S 13,600 — 11,000 — HASH NER2 v B2 2VEVNTIZH 11,000 11,300
41| 205.770R16 111/109L 20,600 — 19,000 — #HA=H NF2 v B4 IVEVNTI=H 19,000 19,800
42| 205/85R16 117/115L 19,100 — 17,200 — BHASH NER2 v B2 2VEVNTIZH 17,200 18,100
43 215/60R16 95H 13,400 — 12,300 — #HA=H NF2 v B IVEVNTI=H 12,300 12,900
44(225.780R17.5 123/112L 24,600 — 23,000 — HASH NER2 v B2 2VEVNTIZH 23,000 23,600
45| 235.50R13.5 102L 15,200 — 13,900 — #HA=H NF2 v B IVEVNTI=H 13,900 14,700
46 235770R15 103S 18,500 — 17,000 — HASH NERE2 v B2 2VEVNTIZH 17,000 17,600
47| 235.775R15 104/101S 15,300 — 14,000 — #HA=H NF2 v B4 IVEVNTI=H 14,000 14,700
48 265/70R16 112S 20,900 — 18,800 — #HASH NER2 v B2 2VEVNTIZH 18,800 19,700
49 650R15 8PR 14,900 — 12,800 — #HA=H NF2 v B4 IVEVNTI=H 12,800 13,400
50 650R16 10PR 15,400 2,800 14,000 2,650 | #H%RXEH K Vv KA AVEVNTI=H 14,000 2,650 14,700 2,800
51 650R16 12PR 16,300 2,800 15,000 2,650 #HA=H NF2 v B4 IVEVNTI=H 15,000 2,650 15,500 2,800
52 700R16 10PR 15,900 2,800 15,000 2,650 | #H%RXEH K Vv /A VEVNTI=H 15,000 2,650 15,200 2,800
53 700R16 12PR 17,100 2,800 16,000 2,650 #HA=H NF2 v B IVEVNTIZH 16,000 2,650 16,300 2,800
54 750-16 14PR 16,200 2,900 14,000 2,650 | #H%RX&H K2 Vv KA VEVNTI=H 14,000 2,650 14,900 2,800
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55 750R16 14PR 22,000 2,900 21,000 2,650 #HARH NARMV HAEH 3VEVNTI=D 21,000 2,650 22,100 2,800
56 165.765R15 81Q 15,000 — 13,000 — #HARH NAR2/V  HARE IVEVNTI=D 13,000 13,300
57 175.765R15 84Q 17,000 — 14,000 — #HARH NARMV HAEH 3VEVNTI=D 14,000 14,500
58|185.780R15 - 103.7108L 18,100 — 16,000 — #HARH NAR2/V  HARE IVEVNTI=D 16,000 16,800
59(195.780R15 + 107./105L 19,000 — 17,000 — #HAH AR/ V HAEH 3VEVNTI=D 17,000 17,900
60|205.70R16 - 111,7109L 22,400 — 20,500 — #HARH NAR2/V  HARHE IVEVNTI=D 20,500 21,600
61(225,780R17.5 - 12371221 26,000 — 24,000 — #HARH AR/ V  HAEH 3VEVNTI=D 24,000 24,700
62]225.790R17.5 - 127./125L 26,600 — 26,000 — #HARH NAR2/V  HARHE IVEVNTI=D 26,000 26,800
63 700R15 10PR 17,600 2,800 16,000 2,650 #HAH AR/ V HAEH 3VEVNTI=D 16,000 2,650 16,900 2,800
64 700R16 12PR 19,500 2,800 17,500 2,650 #HARH NAR2/V  HARE IVEVNTI=D 17,500 2,650 18,800 2,800
65| 245,/ 70R19.5 - 136,7134J 31,400 — 31,000 — “HAstt NIIXKE2A4Y 31,000




